11”43 (K1 17%43)

o Linearized knot diagam
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3\&/1 / Solving Sequence

14—>2—>59->10—>11—>8 —>6—>3 — 7 —>> C2,C6,C10
A knot diagranﬂ €1 Cq Co  C11 €8 cs  c3 T oy

Ideals for irreducible component#ﬂ)f Xpar

I = (—1.30032 x 10*%4° — 9.01961 x 10%%4* + ... + 8.75756 x 10*%b — 1.79658 x 10%°,
— 1.18855 x 103%°° — 7.86992 x 10394 + .. 4 5.47347 x 10%8a + 1.25534 x 10,
w4+ Tu = 81w 1)

= —b* -2+ +b+1,a—1, u—1)

Iy =(b+1, a—4u—6, u> +u—1)

* 3 irreducible components of dim¢ = 0, with total 58 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (—1.30 x 10%%u%° — 9.02 x 10%%u*? 4 ... + 8.76 x 10°°b — 1.80 X
104°, —1.19 x 103%u5° — 7.87 x 103%u*% 4 ... + 5.47 x 10%%a + 1.26 x
1039, u®l 4+ Tu®0 4 ... — 81u? + 1)

(i) Arc colorings

as ()
- ()
e ()
o (o)

< 2.17147u° + 14.3783u* + - - - — 92.5347u — 2.29349 >

a9 = \0.148479u5° 4 1.02992u*% + - - - — 2.01156w + 2.05146
1.09719u5° + 7.70594u*® + - - - — 90.5056u — 3.24898
a10 = \ 1.25327u%0 + 6.81713u*® + - - - — 2.96643u + 2.15932
—1.96518u°0 — 12.8342u*° + - - - 4 88.9231u + 7.11394
—1.04684u0 — 6.52621u*° + - - - — 0.236967u — 2.82088
2.21621u50 + 14.3423u* + - - - — 4.63645u + 11.0109
ag =\ —0.06940941°° + 0. 202698u4" + - —9.54759u + 1.43747
—0.109838u°% 4 0.455800u*° + - - - — 35.3698u + 2.83830
ag = 2.10336u° + 11.3955u% + - - - — 4.83182u + 1.99352
—u2 + 1
az =
—0. 109838u°0 +0. 455800u49 + .-+ — 35.3698u + 2.83830
a7 = 1.41865u°% + 6.00756u*0 + - 4.72198u + 0.768857

—0.109838u 4 0.455800u® + - - - — 35.3698u + 2.83830
a7 = 1.41865u5Y + 6.00756u® + - - - — 4.72198u + 0.768857

(ii) Obstruction class = —1

(iii) Cusp Shapes = 1.81706u"° + 20.2990u*? + - - - — 41.2566u + 8.01207



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W — 7w+ 81w — 1
C2 ubt + 2300 4+ -+ 162u + 1
3, Co uwl — 200 + ... — 96u — 32
& uPt = 3uS o 2u—1
cr ubt + 8u0 -+ 6du+ 4
cg, C11 W — 40— 8Tu+ 1
Co ubt 4+ 5u0 - — 4020 — 137
10 ubt 00 4 —du+ 31




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,4 y°l —23y°0 + .. 4162y — 1
C2 Yl 170 4 - 12790y — 1
€3, Cg y°l 4+ 30y°0 + .- — 8704y — 1024
Cs y51—15y50+--~+20y—1
7 yPt — 1290 + ... 41272y — 16
cs, C11 y*t —30y°° + - + 6683y — 1
€9 y°! +37y°0 + - + 211472y — 18769
c10 y*t 2970 + -+ 22708y — 961




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.923570 + 0.3057571
= —0.56446 — 2.606051
= 1.108610 + 0.4994361

—3.69039 — 2.133931

—15.8264 + 4.56251

= 0.923570 — 0.3057571
= —0.56446 + 2.606051
= 1.108610 — 0.4994361

—3.69039 + 2.133931

—15.8264 — 4.56251

= —0.359247 4 0.9825421
= 0.110085 + 0.5636831
= —0.885970 — 0.5933521

4.54085 — 1.959411

—3.52747 4 2.514291

= —0.359247 — 0.9825421
= 0.110085 — 0.5636831
= —0.885970 + 0.5933521

4.54085 + 1.959411

—3.52747 — 2.514291

—0.872616 + 0.5810021
0.200453 + 0.8608251
= 1.74486 + 0.173051

—2.26568 4- 2.297191

—12.40272 — 3.039141

—0.872616 — 0.5810021
= 0.200453 — 0.8608251
= 1.74486 — 0.173051

—2.26568 — 2.297191

—12.40272 4 3.039141

= —0.788139 4+ 0.7077021
—0.197062 — 1.2464901
= 0.879652 + 0.2992251

1.43007 + 1.842981

—7.00000 — 8.980311

—0.788139 — 0.7077021
—0.197062 + 1.2464901
0.879652 — 0.2992251

1.43007 — 1.842981

—7.00000 4+ 8.980311

0.744937 + 0.5578741
= 0.337383 — 1.3218501
—0.203100 + 0.8657881

0.62734 — 3.247271

—5.87868 + 5.459971

0.744937 — 0.5578741
= 0.337383 + 1.3218501
= —0.203100 — 0.8657881

> Q& €|l & €|l & €| Q& €| €| Q@ &l Q2 €|l 2 €|l & €| & &
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0.62734 + 3.247271

—5.87868 — 5.459971




Solutions to I7*

V=1(vol + v=1CS)

Cusp shape

1.073300 + 0.1302591
a = —0.350884 — 1.3234401
b= 1.192740 — 0.2537961

u =

—4.21875 + 0.459051

—12.7704 — 7.00721

u= 1.073300 — 0.1302591
a = —0.350884 + 1.3234401
b= 1.192740 + 0.2537961

—4.21875 — 0.459051

—12.7704 + 7.00721

u = —0.665417 + 0.6333171
a = —0.891675 — 0.3473301
b= 0.946736 + 0.9837821

0.08535 — 1.428591

—8.20291 + 2.860151

u = —0.665417 — 0.6333171
a = —0.891675 + 0.3473301

0.08535 + 1.428591

—8.20291 — 2.860157

b= 0.946736 — 0.9837821
u = —0.603362 + 0.9198451
a = —0.417893 — 1.2984601 6.12236 — 2.892227 | —7.00000 4 0.1
b= —0.357813 + 1.1712101
u = —0.603362 — 0.9198451
a = —0.417893 + 1.2984601 6.12236 + 2.892227 | —7.00000 + 0.1

b= —0.357813 — 1.1712101

u= 0.709519 + 0.8628401

a= 0.722213 —0.1721541 | —1.46329 + 2.483951 0
b= —0.978955 + 0.4200671
u= 0.709519 — 0.8628401
a= 0.722213 + 0.1721541 | —1.46329 — 2.483951 0
b= —0.978955 — 0.4200671
u = —0.923670 + 0.6892421
a= 1.03818 4 2.233131 1.01385 + 3.522461 0
b= 1.060170 — 0.2223601
u = —0.923670 — 0.6892421
a= 1.03818 —2.233131 1.01385 — 3.522461 0

b= 1.060170 + 0.2223601




Solutions to I V—=1(vol ++/—=1CS) Cusp shape
= —0.437529 4 1.0714307
= 0.555165 4+ 0.7121067 3.27749 — 9.363621 0
= —1.24641 — 0.676941
= —0.437529 — 1.0714301
= 0.555165 — 0.7121067 3.27749 4 9.363621 0

—1.24641 + 0.676941

—0.834183 + 0.0229641
= —1.240400 — 0.0712531
—1.46648 — 0.215081

—7.16136 — 4.345661

0.37647 4+ 1.572701

—0.834183 — 0.0229641
—1.240400 + 0.0712531
—1.46648 + 0.215081

—7.16136 + 4.345661

0.37647 — 1.572701

1.051020 + 0.5191221
—0.876858 + 0.9652231
—0.593255 — 0.3861391

—0.294650 — 1.0614401

1.051020 — 0.5191221
—0.876858 — 0.9652231
—0.593255 +- 0.3861391

—0.294650 + 1.0614401

—0.993259 + 0.6392301
0.50831 + 1.573611
1.30081 — 0.937201

—0.91339 + 6.465051

—0.993259 — 0.6392301
0.50831 — 1.573611
1.30081 + 0.937201

—0.91339 — 6.465051

1.222940 + 0.0847821
—0.880621 + 0.1848371
—0.175938 4 0.5300241

—1.13007 — 1.283681

1.222940 — 0.0847821
= —0.880621 — 0.1848371
= —0.175938 — 0.5300241

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
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—1.13007 + 1.283681




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.719478 + 1.0031501
—0.078844 — 0.7854461
—0.623365 4+ 0.5886181

5.28316 + 2.707891

—0.719478 — 1.0031501
= —0.078844 + 0.7854461
—0.623365 — 0.5886181

5.28316 — 2.707891

0.990585 + 0.7371261
0.01937 + 1.543211
—1.190760 — 0.5489511

—2.32039 — 8.399661

0.990585 — 0.7371261
0.01937 — 1.543211
—1.190760 +- 0.5489511

—2.32039 + 8.399661

0.742417 + 0.1241551
—3.86813 — 7.116741
0.960382 — 0.0039971

—2.64938 — 0.111321

—58.9394 + 3.88831

0.742417 — 0.1241551
—3.86813 + 7.116741
0.960382 + 0.0039971

—2.64938 4+ 0.111321

—58.9394 — 3.88831

—1.086370 4 0.7341561
0.744054 + 0.7396251
—0.176246 — 1.3114901

4.63878 + 8.976611

—1.086370 — 0.7341561
0.744054 — 0.7396251
—0.176246 4 1.3114901

4.63878 — 8.976611

—1.035770 4 0.8090171
0.136581 + 0.3653521
—0.281742 — 0.5746941

4.27954 + 3.842151

—1.035770 — 0.8090171
= 0.136581 — 0.3653521
= —0.281742 + 0.5746941

>~ Q@ €| Q@ €|l & €| & 8| & €|l & 8|l @ 8|l & 8|l & 8| o &g
Il

4.27954 — 3.842151




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = 0.650449
a = —0.858462
b= —0.0122379

—1.00288

—10.0670

u = —1.227370 4+ 0.6679991
a = —0.673896 — 1.0985801
b= —1.113660 + 0.4623671

1.87901 + 7.987831

u = —1.227370 — 0.6679991
a = —0.673896 + 1.0985801
b= —1.113660 — 0.4623671

1.87901 — 7.987831

u = —1.213470 4+ 0.7183951
a = —0.57099 — 1.543351
b= —1.36456 + 0.663151

0.8642 4 15.79451

uw = —1.213470 — 0.7183951
a = —0.57099 + 1.543351
b= —1.36456 — 0.663151

0.8642 — 15.79451

u=1.46886 + 0.105631
a = —0.596843 + 0.0303421
b= —1.121090 + 0.4637701

—3.74009 + 5.322811

u= 1.46886 — 0.105631
a = —0.596843 — 0.0303421
b= —1.121090 — 0.4637701

—3.74009 — 5.322811

= —1.64237
a = —0.478176
b= —0.962556

—10.4502

u = —0.218706 + 0.0560881
a = —0.19747 4 1.889091
b= 0.500772 + 0.5183821

—0.61038 — 1.489991

—4.46560 + 4.549781

u = —0.218706 — 0.0560881
a = —0.19747 — 1.889091
b= 0.500772 — 0.5183821

—0.61038 + 1.489991

—4.46560 — 4.549781




Solutions to I} V—=1(vol ++/—=1CS) Cusp shape
u = 0.0948151
a = —15.5949 —2.29513 —1.15090
b 1.14404
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IL I3 = (b° —b* — 2634+ b*+b+1,a—1, u—1)

(i) Arc colorings

o= (o)

0
aq = 1
1
ag = 1
-1
as = O
1
ag = \p
—b+1
aip = b
-b+1
a1l = _b2
—b+b+1
ag = b3 +b
0
as = \—p* — B3 +024+20+1
0
a3 = \1
0
a7 = \—p* — B3+ b2 +204+1

0
ar = (—b4—b3+b2+2b+1>
(ii) Obstruction class =1

(iii) Cusp Shapes = 3b* + b — 2b% — 10b — 17
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 (u—1)°
C2,Cy4 (u + 1)5
C3,Cg u5
s W —3ut 4w - —u+1
¢r w—ut+ 20—t u—1
Cs wWrut -2 — w4+ u—1
Cg,C11 wW—ut -2+t u+1
C10 w4 ut F2ud +ut Fut1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
€3,Ce y5
€ -yt 8y =3 +3y—1
€7, €10 3yt A+t -y -1
Cs, Cg, C11 v’ =5yt +8y° =3yt —y—1

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u =

1.00000
1.00000

b=-1.21774

—4.04602

—2.99730

b=—

1.00000
1.00000
0.309916 + 0.5499111

—1.97403 + 1.530581

—13.4575 — 4.40321

b=—

1.00000
1.00000
0.309916 — 0.5499111

—1.97403 — 1.530581

—13.4575 4 4.40321

b:

1.00000
1.00000
1.41878 + 0.219171

—7.51750 — 4.400831

—22.0438 4 5.20941

1.00000
1.00000
1.41878 — 0.219171

—7.51750 + 4.400831

—22.0438 — 5.20941
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IL Iy =(b+1, a—4u —6, u* +u —1)

(i) Arc colorings

o= (o)

e (0)

o= ()
= (at)
e (39
. (Su (;r 5>
e <4u_4£ 7>
w- (3
w= (Cati)
o ()
= (o)

(ii) Obstruction class =1

(iii) Cusp Shapes = —61

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
c1,C3 u+u—1
2 u? +3u+1
2
C4,Cq u—u—1
Cs5,C9, C10 w?—3u+1
cr u?
Cs (u—1)2
2
C11 (u + 1)

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y2_3y+1
Co
C2,Cs5, Cy y2_7y+1
€10
cr y2
Cs; C11 (y—1)?

17



(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape

0.618034
= 8.47214 —2.63189 —61.0000

—1.61803

= —0.472136 —10.5276 —61.0000

U
a
b = —1.00000
U
a
b = —1.00000
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u—1)%)(u? +u—1)(u® — 70+ +81u® — 1)
€2 ((u+1)%)(u? + 3u + 1) (u® +23u°° + - + 162u + 1)
€3 u’(u? +u— 1) (u”t — 20 + - — 96u — 32)
C4 (u+ 1)) (u? —u—1)(u® = 700 + -+ 81u® — 1)
¢ (w? = 3u+1)(u® = 3u + - —u+1)(u =30 4+ -+ 2u — 1)
6 u’(u? —u—1)(u”t — 20 + - — 96u — 32)
e w?(u® —ut - u— 1) (WP 4 8u0 - 4 64u + 4)
c8 (u—DHW® +u* + +u—1) W — 4™ - —8Tu+1)
co (u? = 3u+1)(u® —ut + - +u+1) (6 + 5 + - - — 402u — 137)
1o (u? —3u+1)(u® +u* + - +u+ 1) (W + 1™+ —du+31)
c11 (u+ D)W —u* 4+ u+ 1) — 4™ - —8Tu +1)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, ¢ (y=1D) W =3y + 1)y —23y°° +--- + 162y — 1)
C2 ((y — 1)) (2 = Ty + D)(y° + 1790 + - -« + 12790y — 1)

€3, Co v (y* — 3y + 1)(y* +30y°° + -+ — 8704y — 1024)
% (W =Ty + )" —y 4+ 3y = 1) =15y + - + 20y — 1)
¢ VO +3yt - —y = 1) = 1290 + - + 1272y — 16)

C8, C11 (y—DH° —5y* + - —y—1)(y°" =30y +--- + 6683y — 1)
co W —Ty+1)(y° —5y* +8y° =3y —y—1)

(Pt 4 37y°0 4 - - 4+ 211472y — 18769)

10 W —Ty+ D" +3y" +4° +v* —y— 1)

(Pt 42990 4 - -« + 22708y — 961)
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